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QUESTION 1

Which two statements are true about JMS channels? (Choose two.) 

A. Events may be overwritten using _nm_ and _ns_ message properties. 

B. The JMS Destination property contains JMS destination type information. 

C. Two channel destinations can connect to the same queue. 

D. Temporary topics are allowed. 

Correct Answer: AC 

 

QUESTION 2

What are three valid rule function parameter types? (Choose three.) 

A. Event 

B. Scorecard 

C. Number 

D. Concept 

E. Float 

Correct Answer: ABD 

 

QUESTION 3

What are three characteristics of Pattern Matcher? (Choose three.) 

A. Correlation across event streams 

B. Complex patterns with sub-patterns 

C. Supports windowing construct 

D. Fault tolerance and high availability 

E. Similar to primitive state machines 

Correct Answer: ABE 

 

QUESTION 4

What are three features of Query agents? (Choose three.) 
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A. Execute rules only 

B. Execute rule functions only 

C. Provide read-only access to the objects in the cache 

D. Provide read and write access to the objects in the cache 

E. Assert events 

Correct Answer: BC 

 

QUESTION 5

A retail company must provide seasonal promotions to its customers. The rules used for the promotions are very
dynamic and need to be enabled/disabled by a non-technical employee (i.e., a front end clerk). 

Which TIBCO BusinessEvents add-on should you use to implement the requirement? 

A. Decision Manager 

B. Business Rules 

C. Business Studio 

D. Data Modeling 

Correct Answer: A 
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